Distributed by:

AM EC()@ www.Jameco.com [ 1-800-831-4242
The content and copyrights of the attached

ELECTRONICS material are the property of its owner.




Bridge Rectifiers

Jameco Part Number 178280

Operating Temperature: -65°C to 125°C

Max. Average Peak Inverse | Peak Fwd. Surge Max. Forward Max. Reverse i
Cross- Rectified Voltage Current @ 8.3 ms Voltage @ 25°C Current @ 25°C Package Outline
Part No. Reference Current Superimposed @ Rated lo @ Rated PIV (Typ. in Inches)
lo(A) PIV(V) kesm (A) Veu(V) Ir(nA) Bulk
TU1000 KBU1001 50
TU1001 KBU1002 100
TU1002 KBU1003 200
TU1004 KBU1004 400 300 1.1 10.0
TU1006 KBU1005 600
TU1008 KBU1006 800
TU1010 KBU1007 10.0 A 1000 200
KBU1001 TU1000 50
KBU1002 TU1001 100
KBU1003 TU1002 200
KBU1004 TU1004 400 300 1.1 10.0
KBU1005 TU1006 600
KBU1006 TU1008 800
KBU1007 TU1010 1000
SB1505 SB1505 50
MB151 SB151 100 MB35 712 1.00 Max,
MB152 SB152 200 (Metal Case) -——2:032 =437
MB154 SB154 400 300 1.1 @ 75A 10.0 50 Hole for
MB156 SB156 600 #10 screw ac) !
MB158 SB158 800 2100 .65
MB1510 SB1510 1000
MB1505W SB1505W 50
MB151W SB151W 100 MB35W 712 (20Min,
MB152W SB152W 200 (Metal Case) Lo | :
MB154W SB154W 400 300 1L1@75A 10.0 50 :
Hole for /)@‘ 712
MB156W SB156W 600 #10 sorewpglle_ - i
MB158W SB158W 800 2109 b0+ lo40%
MB1510W SB1510W. 1000
TB1505 KBPC15-005 15.0A 50
TB151 KBPC15-01 100 TB35
TB152 KBPC15-02 200 (Plastic case|
TB154 KBPC15-04 400 300 11@75A 10.0 50 ﬂe:alfbase)
ole for
TB156 KBPC15-06 600 #10 screwr
TB158 KBPC15-08 800 2100 gis ey + 25] 004z
TB1510 KBPC15-10 1000
TB1505W KBPC15-0056W 50
TB151W KBPC15-01W 100 TB35W 712 (20Min,
TB152W KBPC15-02W 200 (Plastic case™ SIAC | T
TB154W KBPC15-04W 400 300 11@75A 10.0 50 Metal base) o N Qi
TB156W KBPC15-06W 600 e for i
ol -
TB158W KBPC15-08W 800 2100 480— + 10402
TB1510W. KBPC15-10W 1000
MB2505 50
MB251 SB251 100 MB35 712 1.00 Max,
MB252 SB252 200 (Metal Case) ~——=:092 | ‘*-4137
MB254 SB254 400 300 11@125A 10.0 50 oot ! o ! ng'géc"zt
ole for _——' ‘ R B
MB256 SB256 600 #10 screw agll_=| &
MB258 SB258 800 210@ 6521 * .251 094@
MB2510 SB2510 1000
MB2505W SB2505W 50
MB251W SB251W 100 MB35W .712 1.20 Min,
MB252W SB252W 200 (Metal Gase) L [ =437
MB254W SB254W 400 300 11@125A 10.0 50 N (S P
Hole for /)@ 712 .
MB256W SB256W 600 #10 screwpglle_ - ! |
MB258W SB258W 800 2109 a50—t + ‘0402
MB2510W SB2510W 1000
TB2505 KBPC25-005 50
TB251 KBPC25-01 100 712 1.00 Max,
TB35 155 os0 ——
TB252 KBPC25-02 200 (Plastic case"m—=5AC" - ¥
TB254 KBPC25-04 25.0A 400 300 11@125A 100 50 Veaoesel ' o' | ko Sep 1=
TB256 KBPC25-06 600 #10screw, | 1 | =
TB258 KBPC25-08 800 2102 52—
TB2510 KBPC25-10 1000
TB2505W KBPC25-005W 50
TB251W KBPC25-01W 100 TB35W 712
TB252W KBPC25-02W 200 (Plastic case™ = =
TB254W KBPC25-04W 400 300 11@125A 10.0 50 "'je:a'fbase) o
TB256W KBPC25-06W 600 S
AC
TB258W KBPC25-08W 800 2100 4500—1
TB2510W. KBPC25-10W 1000
KBPC25-005S - 50
KBPC25-01S - 100 KBPC
KBPC25-02S - 200 #10 Screw @ 210 450§
KBPC25-04S - 400 300 12@125A 10.0 50 N
KBPC25-06S - 600 SO = 500
KBPC25-08S - 800 - 5551
KBPC25-10S - 1000
MB3505 SB3505 50
MB351 SB351 100 MB35 712 1.00
MB352 SB352 200 (Metal Case) -=—=5i322 [ |
MB354 SBas4 35.0A 400 400 11@175A 100 50 voefor |-@- |52 5e2
MB356 SB356 600 #10screw agl ) =] + i
MB358 SB358 800 2100 52— + .25] 094p
MB3510 SB3510 1000
mC: 51



jmendiola
Jameco Part Number 178280

jmendiola
MB254

jmendiola
25.0 A

jmendiola
300 1.1 @ 12.5 A 10.0 50
400




